ROO009263E Bench Assemble Z axis Components

Bench assembly instructions for z axis components

@ Difficulty Medium ® Duration 3hour(s)

Contents

Introduction

Step 1 - Unless otherwise stated
Step 2 - Clean Threads

Step 3 - Assemble support cylinder 1
Step 4 - Assemble support cylinder 2
Step 5 - Assemble tensioners

Step 6 - Check fit of DO001926

Step 7 - Fit bearing

Step 8 - Tension drive coupling

Step 9 - Finalise drive coupling

Step 10 - Finalise idler coupling

Step 11 - Check fit of leadscrew to coupling
Step 12 - Check bearing fit

Comments

Introduction

Tools Required

Standard hex key set
Standard spanner set
Emery tape

Standard HSS drill set
Hand reamer
Standard tap set

Part Required

BO000086 Ball Bearing 15D 32D 9 Long + seals x 4

B0000139 Double Angular Bearing 20 D 47 D 20.6 Long + seals x 2

B0000351 Bearing 40mm O/D 17mm I/D 17.5mm Wide x 2

C0001122K Servo Motor: Beckhoff AM8032-1E10 (Keyed) x 1

D0001926 Servo Drive Coupling M20 (@14mm) Beckhoff x 1

D0006501 Z Leadscrew Sleeve x 2

D0007629 Cylinder rod Extension x 4

D0007732 Sprocket Idler Shaft x 2

D0007733 Sprocket Mounting Block x 2

DO0008090 Retaining Collar x 1

HO0007715 Z Sprocket 33 Teeth 3/8" pitch x 2

HO0007790 Leadscrew Z(Includes Re-balling) x 2

PO0O00007 Straight Adaptor 6mm - 1/8 BSP tapered thread x 2
Page 1/15



P0O000010 Elbow Adaptor 6mm - 1/8 BSPT (Taper thread) x 2
P0000023 Fitting: Hex Nipple 1/8 BSP x 2

P0O000024 Fitting: Hex Nipple 1/4 BSP x 2

PO000026 Silencer 1/4 BSP x 4

PO000051 Fitting: Straight Adaptor 6mm - 1/4 BSPT x 4
P0O000140 Fitting: Quick Exhaust Valve 1/8" x 2

P0O000145 Tee-Equal 1/4BSP Galvanised x 2

P0000200 Elbow Adaptor 6mm - M5 x 2

P0000229 Pneumax VDMA 40 x 300 Magnetic x 4
P0001038 Fitting: SMC 1/8" BSP to @6mm Elbow White x 4
P0001174 Fitting: Pilot Check Valve 1/4" (Flow & ZX) x 2

Step 1 - Unless otherwise stated

Use locktite 243 on all fasteners
Use loctite 572 on all threaded pneumatic connection
Pen mark all fasteners to show finalised

LOCTITE
__243

Step 2 - Clean Threads

4 off

D0007629 .Clean M8 x 1.25 and M12 x 1.25 threads to remove
debris

Page 2/ 15


https://stuga.dokit.app/wiki/Fichier:R0015086_Assemble_Pneumatics_on_to_electrical_cabinet_loctite_243.png
https://stuga.dokit.app/wiki/Fichier:R0000963E_Bench_Assemble_Z_axis_Components_Screenshot_2023-07-18_110421.png

Step 3 - Assemble support cylinder
1

2 off

Assemble PO0O00229 cylinder as shown

Step 4 - Assemble support cylinder 2

Assemble a pair of cylinder assemblies as shown

P0001038 Fitting: SMC 1/8" BSP to @6mm Elbow White x 4
P0001174 Fitting: Pilot Check Valve 1/4" (Flow & ZX) x 2
P0000140 Fitting: Quick Exhaust Valve 1/8" x 2

P0000200 Elbow Adaptor 6mm - M5 x 2

Page 3/15


https://stuga.dokit.app/images/thumb/7/70/R0000963E_Bench_Assemble_Z_axis_Components_Screenshot_2023-07-18_105421.png/ia-deb33b07f938226d4cc33df370a4721c-1000px-R0000963E_Bench_Assemble_Z_axis_Components_Screenshot_2023-07-18_105421.png.png
https://stuga.dokit.app/images/thumb/f/f6/R0000963E_Bench_Assemble_Z_axis_Components_Screenshot_2023-07-18_112214_-_Copy.png/ia-fb4b996d9de149f87bdc93ed0d7ee719-1000px-R0000963E_Bench_Assemble_Z_axis_Components_Screenshot_2023-07-18_112214_-_Copy.png.png
https://stuga.dokit.app/images/thumb/0/06/R0000963E_Bench_Assemble_Z_axis_Components_Screenshot_2023-07-18_112221_-_Copy.png/ia-7bf9195e97f35d116a4da11bd24b2ce0-1000px-R0000963E_Bench_Assemble_Z_axis_Components_Screenshot_2023-07-18_112221_-_Copy.png.png

Page 4/15


https://stuga.dokit.app/wiki/Fichier:R0000963E_Bench_Assemble_Z_axis_Components_Screenshot_2023-09-15_083303.png
https://stuga.dokit.app/wiki/Fichier:R0000963E_Bench_Assemble_Z_axis_Components_Screenshot_2023-09-15_083308.png
https://stuga.dokit.app/wiki/Fichier:R0000963E_Bench_Assemble_Z_axis_Components_Screenshot_2023-09-15_083313.png

Step 5 - Assemble tensioners
2 off

1 Press BOO00351 Bearing 40mm O/D 17mm |/D 17.5mm Wide into HO007715 Z Sprocket 33 Teeth 3/8" pitch . Observe fit, if loose solvent
to degrease and apply bearing fit. If tight inspect drawing and check bore size

2 Pressin DO0O07732 Sprocket Idler Shaft, again observing fit as above
3 Fit 16mm external circlip

4 Attach DO007733 Sprocket Mounting Block using M6 x 40 socket cap and heavy M6 washer (do not apply adhesive to this bolt)

5 Add M6 x 30 grubscrew and Mé standard nut to indicated face (picture required)

Page 5/ 15


https://stuga.dokit.app/images/thumb/1/19/R0000963E_Bench_Assemble_Z_axis_Components_Screenshot_2023-07-18_113224.png/ia-7d7afaa22285e05ce80977467eda475f-1000px-R0000963E_Bench_Assemble_Z_axis_Components_Screenshot_2023-07-18_113224.png.png
https://stuga.dokit.app/images/thumb/9/91/R0000963E_Bench_Assemble_Z_axis_Components_Screenshot_2023-07-18_113210.png/ia-603592f501a1864d6e124f8ef49c38ae-1000px-R0000963E_Bench_Assemble_Z_axis_Components_Screenshot_2023-07-18_113210.png.png
https://stuga.dokit.app/images/thumb/1/1a/R0000963E_Bench_Assemble_Z_axis_Components_Screenshot_2023-07-18_113055.png/ia-451d4d5ab37d75c3db55f84b2b14e964-1000px-R0000963E_Bench_Assemble_Z_axis_Components_Screenshot_2023-07-18_113055.png.png

Step 6 - Check fit of DO001926

Ensure D0001926 Servo Drive Coupling M20 (@14mm) Beckhoff x 1
fits onto C0001122K Servo Motor: Beckhoff AM8032-1E10 (Keyed) x 1
Fit should be a snug slide fit

Part can be reamed with hand reamer if fit is tight

Page 6/ 15


https://stuga.dokit.app/images/thumb/1/1a/R0000963E_Bench_Assemble_Z_axis_Components_Screenshot_2023-07-18_113019.png/ia-343395ccd583d17e7be5cbfa04b67135-1000px-R0000963E_Bench_Assemble_Z_axis_Components_Screenshot_2023-07-18_113019.png.png
https://stuga.dokit.app/images/thumb/1/1e/R0000963E_Bench_Assemble_Z_axis_Components_Screenshot_2023-09-15_083130.png/ia-830c3d41c6f9f6a5b631e70ea7618d32-1000px-R0000963E_Bench_Assemble_Z_axis_Components_Screenshot_2023-09-15_083130.png.png
https://stuga.dokit.app/wiki/Fichier:R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_094611.png
https://stuga.dokit.app/wiki/Fichier:R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095926.png

Step 7 - Fit bearing

2 off

1 Check and adjust fit of BOO00139 Double Angular Bearing 20 D 47 D 20.6 Long + seals onto DO0O06501 Y Leadscrew Sleeve

A ..Only polish a small amount at a time, to ensure to correct amount is taken of the sleeve

2 Fit should be a smooth press fit onto sleeve. Indicated face can be polished down with fine emery to obtain desired fit

Page 7/ 15


https://stuga.dokit.app/images/thumb/9/92/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_094647.png/ia-a86066c695dfb2040e131ee25bef969e-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_094647.png.png
https://stuga.dokit.app/images/thumb/1/15/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_094655.png/ia-2d403586ac48a0e543615c25a8ac6e8d-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_094655.png.png
https://stuga.dokit.app/images/thumb/4/41/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095932.png/ia-9d8b08488f20af963b5de56efee797a9-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095932.png.png
https://stuga.dokit.app/images/thumb/8/8f/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095917.png/ia-ea9207ac2ea40c84047e0af95bb60dc2-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095917.png.png

Step 8 - Tension drive coupling

1 Add m8 socket caps as shown to hold assembly in vice

2 Use 2 off m8 long socket caps and Standard M8 nuts and lock onto drive coupling.

| A ..Ensure end of socket cap doesn't touch inner part as rotation is required to tension

Tension using long M8s as leverage

Step 9 - Finalise drive coupling
1 off

1 Remove 1 off Long M8 socket cap and tension an M8 x 12 kcp grubscrew into the hole (do not add adhesive)
2 Remove second Long M8 socket cap and dimple inner shaft using 6.8mm drill

Clean with compressed air and add M8x 8 kcp with adhesive and tension
3 Remove m8 x 12 kcp grub screw and repeat above step

Page 8/15


https://stuga.dokit.app/images/thumb/3/3c/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095733.png/ia-e1851098919e5c8801b2299044b69bab-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095733.png.png
https://stuga.dokit.app/images/thumb/c/c4/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095935.png/ia-1c31cfc0e9d414aed9931350d71fb7e9-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095935.png.png



https://stuga.dokit.app/images/thumb/c/c4/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095935.png/ia-3a34707010578c2d09bd62aef705967c-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095935.png.png
https://stuga.dokit.app/images/thumb/9/92/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095840.png/ia-8fd36178bd66ca82fd532e86ad68c51f-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095840.png.png



https://stuga.dokit.app/images/thumb/2/28/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095940.png/ia-ed14bb4cb4bd556b190d48932acea69c-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095940.png.png

Step 10 - Finalise idler coupling

1 off

Use the same steps above to assemble idler drive coupling as shown
using DO008090 Retaining Collar x 1

Page 11/ 15


https://stuga.dokit.app/images/thumb/1/11/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_103256.png/ia-ea23442004682a190bc6e98515beba72-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_103256.png.png

Page 12 /15


https://stuga.dokit.app/images/thumb/e/e8/R0000963E_Bench_Assemble_Z_axis_Components_Screenshot_2023-07-18_120901.png/ia-9a5f8ecc40a0952b550f41f527ce54c9-1000px-R0000963E_Bench_Assemble_Z_axis_Components_Screenshot_2023-07-18_120901.png.png

Step 11 - Check fit of leadscrew to coupling

2 off

1 Check fit of coupling to leadscrew HO007790 Leadscrew

2 Use reamer / Emery tape if fit is tight

e P O S

:

Step 12 - Check bearing fit

1 Check bearing BOO00086 Ball Bearing 15 D 32 D 9 Long + seals fit is acceptable on leadscrew HO007789

2 Adjust with emery tape if fit is tight

Page 13 /15


https://stuga.dokit.app/images/thumb/2/2a/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_103608.png/ia-cb8ee4a46df67600c68e8bb0b045fe85-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_103608.png.png
https://stuga.dokit.app/images/thumb/e/e6/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_103446.png/ia-6cdd6c936b73d16d652c5b633b3a52d0-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_103446.png.png

o AR RN NAR 5 AN A

Ay ol o o
AN AN g B

Page 14 /15


https://stuga.dokit.app/images/thumb/e/e9/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_103933.png/ia-c5bbc0fdccf92ce4580de5a1b5e77246-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_103933.png.png
https://stuga.dokit.app/images/thumb/2/27/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_104005.png/ia-d13ddd47cd75ccbac31add01c853f27c-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_104005.png.png

Page 15/ 15


https://stuga.dokit.app/wiki/Fichier:R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_103955.png

	R0000963E Bench Assemble Z axis Components
	Contents
	Introduction
	Step 1 - Unless otherwise stated
	Step 2 - Clean Threads
	Step 3 - Assemble support cylinder 1
	Step 4 - Assemble support cylinder 2
	Step 5 - Assemble tensioners
	Step 6 - Check fit of D0001926
	Step 7 - Fit bearing
	Step 8 - Tension drive coupling
	Step 9 - Finalise drive coupling
	Step 10 - Finalise idler coupling
	Step 11 - Check fit of leadscrew to coupling
	Step 12 - Check bearing fit


